
 gu/kflnsf af6 ;+rfng x'g] j8f ut cfof]hgf÷ sfo{qmdx? 

l;=g cfof]hgf÷sfo{qmdsf] gfd j8f g++ ljlgof]lht /sd= 

!= 
r]kfª b]lv e+ufxf hfg] ;8s lgdf{0f @# nfv / af6'Nn] b]lv vf]6] hfg] 
af6f] lgdf{0f @ nfv qmdfut !  2500000.00 

@ e§L k"n b]vL jnL 6f]n hf]8\g] af6f] lgdf{0f  !  500000.00 

# zxLb u]6 b]lv ldn ;Ddsf] af6f]df b'a} lt/ 9n lgsf; gfln lgdf{0f  !  1000000.00 

$ 808] vqLsf] 3/ g]/sf] tNNff] af6f]sf] vf]nfdf sRj] lgdf{0f  !  350000.00 

% df]xg b]jsf]6fsf] 3/ g]/ lr;L vf]nfdf  sNe6{ lgdf{0f  !  350000.00 

^ 3'u't]nsf] 3/ g]/ sNe6{ lgdf{0f  !  350000.00 

& nIdL df=la=kvf{n lgdf{0f  !  200000.00 

* nIdL df=la= lkmN8 dd{t !  200000.00 

( hGtf k|f=la= s'?Nn] lkmN8 dd{t  !  200000.00 

!) ;fd'bfoLs cWoog s]Gb| dd{t !  50000.00 

!! d'nkfgL k|f=la= vf]6] lkmN8 lgdf{0f  !  50000.00 

!@ :jf:Yo O{sfO{ s]Gb| cw'/f] ejg lgdf{0f  !  700000.00 

!# ;fd'bfoLs :jf:Yo O{sfO{df kmlg{r/ lgdf{0f tyf vl/b !  50000.00 

!$ kmf]x]/d}nf Aoj:yfkgsf] nfuL ef}tLs k"af{wf/   !  100000.00 

!% s'?Nn]df vfg]kfgLsf] nfuL kfgLsf] d"n Aoj:yfkg  !  100000.00 

!^ af6'Nn]df vfg] kfgLsf[] nfuL k'/fg} wf/f dd{t  !  100000.00 

!& vf]6]df pHofnf]sf] nfuL ;f]nf/ lat/0f  !  350000.00 

!* e+ufxfdf kfgL ldn ;+rfng  !  350000.00 

  hDdf   7500000.00 
 


